=
N = 0l & At & Ml A
0158 £ 2 8 2usiH HA
SN ABEIS
HH: ZOMESY(MBR1S)
el FoMEE (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
ELAE 209,524 219,044 ~9,520
2 4,800 4,800 0
Al 204,724 214,244 £9,520
FOMEHSY(4BE1S) 170,644 177,284 6,640
2 4,800 4,800 0
Al 165,844 172,484 6,640
FolME 61,520 61,720 £200
FoMEX 2 7,020 7,220 £200
201 Yer2 bl 1,240 1,440 A200
01 A2 22l 600 800 200
O Sas==NHE 294 600, 000! 600 800 £200
FOUTIMEH Y 49,100 54,540 A5,440
2 4,800 4,800 0
Al 44,300 49,740 A5, 440
FOITR HE S 30,500 35,940 A5,440
201 Yer 2 bl 29,800 35,240 A5, 440
01 A2 22l 29,800 35,240 A5,440
OHOIDY BA+E 8,500, 0002 8,500 10,500 £2,000
OMEBHSDY ALY
25,0002 25 «21A| 2++102 0,500 2,500 £2,000
OFOITIXIP RS 80 &A LY
30,0002 +25% * 122 9,000 10,440 A1,440
T e 60,024 61,024 A1,000
Al 13,139 14,139 A1,000
201 Yer2 | 13,139 14,139 A1,000
02 32 7.139 8,139 A1,000
O=SNHEES S M2l HIX b
200,000 +72 1,400 2,400 A1,000
YH2YAH (4B21S) 38,880 41,760 £2,880
EET 38,880 41,760 £2,880
EETH 38,880 41,760 £2,880
202 04t 14,400 17,280 £2,880
01 =Ly o1 bl 14,400 17,280 £2,880
YL =TI =0t 10,0002 * 122 * 122 14,400 17,280 ~2,880
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A & 0l & AF 2 E A A
20159 E = 2 3 LB HA
SN 4BES
M FUHEHSY(ARES)

Sel: FolMENd EEH-E)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
AzEs 258,905 261,118 ~2,213
ZRHESY(4BES) 191,404 195,699 £ 4,295
=oMEXH 67,585 68,805 A1,220
soey 53,200 54,000 800

301 LetR &3 53,200 54,000 800
05E% - 01% - BESSEAZ 53,200 54,000 £800
Otz EsEAZ 25,0002 +80 +23] 4,000 4,800 800

Z Bl ME X2 7,200 7,620 £ 420
301 LEtR A2 3,360 3,780 £ 420
09 BAAIHI 2 &3 3,360 3,780 £ 420
O=XS gitole A 0% 0 420 A 420
Harare] 90,039 93, 114 ~3,075
Az el 66,493 68,897 A2,404
401 Al HI L 2 THHI 38,978 41,382 A2,404

01 Al tl 38,978 41,382 ~2,404
FOME P4 Y THTA 19,450,000 19,450 20,922 A1,472
ZFOIME LT X 3,900,0002! 3,900 3,905 N
OFIIMHEZA ¥ XZHS BAH 9,523,008 9,523 10,450 927
Tzl 23,546 24,217 N4
405 RH&HF S| 18,329 19,000 A6T1

01 XAt 22 5 S 18,329 19,000 A671
oxgxY 7Y 18,329,00024 18,329 19,000 N4
BISAAY (ABES) 67,501 65,419 2,082
o121 2 of i 28,961 26,219 2,742
ol 28,961 26,219 2,742
101 Q121 b 28,961 26,219 2,742

03 RIHA2Z R4 28,961 26,219 2,742
OBIRQIOHY RIIHA2Z X A 26,465 23,723 2,742
—ol=3 1,676,5008 +1 « 12 20,120 18,130 1,990

— FHougaly 10,0009 1«12 1,320 1,080 240

— iRt g 63,4409 +1% + 192 1,206 1,081 125

— ANI2HQI2R4EY 11,9002+ 1Y *15AI 2+ 122 2,142 1,921 221

- E-E P 838,320 2! 12§ %23 1,677 1,511 166

|22 38,540 39,200 £660
o= Fl 38,540 39,200 £660
201 2Bt Ayl 12,660 13,320 660

01 At 2+ 2l 12,660 13,320 £660

242 -




H
Ar

&l (4

W 80 &
HJ 0K R0
Ar &0 M
<0 "0~

2N
X XH
L= B
=

o o
© ©
© (<o)
S R
Klo
El
E=]
2 3
[ee) [¢e]
= <
3l
R0
m
QL
N o
H Yol
aor
<
(=
Wﬂ
*x
ol
ar N
e x
0
Y, =
. *
2| &
< S
I 3
=
= |z
= Iro
ol |
= |=
wf_ 3 o
B Jow %
R By
) o
K0 O
X
I+

- 243 -



> A
N & 0l & Av S Z M A
20159 = =& 2 3] B3 ®Al
2N ANES
M FUHAHSIG(AAMES)
el THarze] (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
LAES 300,025 298,825 1,200
= 2,400 2,400 0
Al 297,625 296,425 1,200
FoHEH2H(MA=S) 199,936 201,436 A 1,500
= 2,400 2,400 0
Al 197,536 199,036 A 1,500
T &2t 2| 67,850 69,350 A 1,500
ez 11,570 13,070 A 1,500
201 L Er2A | 11,570 13,070 A 1,500
02 3324l 5,570 7,070 A 1,500
O=Ex&d KX 2,500,000 2,500 3,000 A 500
OSXNNHES SetAtdl 2l =Xl
116,600 122 1,400 2,400 A 1,000
HY2FZH (AANES) 100,089 97,389 2,700
eI 2 60,828 55,629 5,199
oI 2| 9,416 6,674 2,742
101 Q124 4] 9,416 6,674 2,742
03 RIHAZ 22 = 9,416 6,674 2,742
OFAr2el RIIAHA2Z2 X 1Al 26,945 24,203 2,742
—Jles 1,676,590 «1H « 128 20,120 18,130 1,990
— Z AU =Al 110,000 x1H «12& 1,320 1,080 240
—Qlx=g 63,4402 *1H x192 1,206 1,081 125
— AN2ZR=E 11,9003 *1E *15AI 2tx 123 2,142 1,921 221
— @ E St 838,300 1 »23] 1,677 1,511 166
2 51,412 48,955 2,457
101 1Al 51,412 48,955 2,457
03 RIAHA2 22+ 51,412 48,955 2,457
ORIRQICHY SIIAHAZ 2R 24| 28,356 25,899 2,457
—JlE2s 1,646,880& x 1P «12& 19,763 18,003 1,760
— ZUg A 110,000& x 18« 122 1,320 1,080 240
PN 62,4002 «1H 192 1,186 1,074 112
—ANZtZR=Y 11,7003 «1H x15A1 2t«12& 2,106 1,907 199
— S E =0t 823,440 x1H »23] 1,647 1,501 146
Jl=&l 39,261 41,760 A 2,499
Jl=dl 39,261 41,760 A 2,499
202 4 Hl 14,781 17,280 A2,499
01 = LH 4 Hi 14,781 17,280 A 2,499
ARZ=AI =W 102,6403 x 128« 128 14,781 17,280 A2,499
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2N
X ZH -
L= B

el

AANEIS
HH2HZH (AA23S)
el 2l

SA B S(AH) - ARA - BES 0f o Sl RS2

03 RINAL=22E > 29,030 26,282 2,748
QU RIIAISZ 2R el 2] 26,528 23,780 2,748
—Jl2= 1,676,500 x1& 123 20,120 18,130 1,990

— A Z A 110,000 »1& «12& 1,320 1,080 240
—dX==d 63,4403 1 »20& 1,269 1,138 131
—A2AZ R 11,900 ~1H 15A1 2t+ 123 2,142 1,921 221
—EESOHYl 838,295% 12 »23 1,677 1,511 166
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N & 0l & Av S Z M A
20159 = =& 2 3] B3 ®Al
SN ges
g FoHEH 29
el FUXNXANEH2E (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HI RS2
Hel s 185,235 190,235 A5,000
oM 24 147,235 151,035 A 3,800
FOUNXHEH2Y 27,160 30,960 A 3,800
FOUNNEEHZY 23,560 27,360 A 3,800
201 LEt2A | 22,300 26,100 A 3,800
01 AtR 22l | 22,300 26,100 A 3,800
OF0luna ZA==& 7,500,000 7,500 10,500 A 3,000
OFQTXAE &3 =< 8,200,000& 8,200 9,000 A800
HH2IZH(HYS) 38,000 39,200 A 1,200
JlEZl 38,000 39,200 A 1,200
JlE2&l 38,000 39,200 A1,200
202 04l 14,640 15,840 A1,200
01 SLHOYI 14,640 15,840 A1,200
LRI 20 14,640,000& 14,640 15,840 A1,200
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O] &F & F A
20158 =& 2 3 LetaH HA
BA: NS
M FOUHAH2E (o
©°e: FoMETH ?EA)
SA-ZH () - HRAY - BES Off &4 Hns2Z
nifel; 159,332 ,861 26,529
= H2g(nots) 124,632 ,661 A 2,029
M 78,165 ,585 21,420
A2 8,950 ,950 21,000
201 Let24dy] 6,920 ,920 A 1,000
02 ZZ 2l 5,200 200 A1,000
ool
416,600 x12& 5,000 ,000 21,000
Qr M & 4,975 ,395 A 420
301 et a = 3,360 , 780 A 420
09 AL HI 2 & 3,360 ,780 A 420
O8Xs U2 o0& 0 420 ~420
NXEH2H 25,600 ,800 A 200
QXX HEH 24 22,000 ,200 2200
201 Let24d] 20,740 ,940 A 200
01 At 2teltl 20,740 ,940 2200
OF0lua ZA==& 10,300,000& 10,300 ,500 A 200
Atzte| 20,867 ,276 A 409
Zae| 4,691 , 100 A 409
201 Let249] 4,691 5,100 A 409
02 =24l 4,691 5,100 A 409
Os3e= 1,691 2,100 A 409
— S 1,520,310% *1CH 1,521 ,930 A 409
HE2HZH (ets) 34,700 ,200 A 4,500
2l 34,700 ,200 A 4,500
=224l 34,700 ,200 A 4,500
202 oddl 11,340 ,840 24,500
01 = LH o4 1l 11,340 ,840 A 4,500
HRFELI 20
3,420,000 +(120,0002 *11H 62 ) 11,340 ,840 A 4,500
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= A
A & 0o & 2 F A
M EZ 23 LersH FA
o =3s
=R MEHSY(ARIS)
=P 2@ E)
2N -3 -2 (SH) - NHEAMY - BES Off &t 24 Husz
278,442 1995 A 1,553
Eleg(2=3s) 209,353 573 A2,220
Mg X 2 145,970 1390 £ 420
Bl A E X 2 5,200 620 £420
301 YprE A 3,360 780 £420
09 BALAIHI 2 &2 3,360 780 £ 420
O=XS lztolg A 02 0 420 £420
R MIE 2 Y 32,000 ,800 A1,800
XX HIE 2 Y 20,400 200 £1,800
201 2pte | 19,140 1940 £1,800
01 At 22l 19,140 1940 A1,800
OFLURXAL sl &ALY
30,0009 *24% * 122 8,640 440 A1,800
BHS YA (ARIS) 69.089 422 667
ol 2 ol 29,329 662 2,667
ol 29| 29,329 662 2,667
101 @124 29,329 662 2,667
03 RIHA22RE 4 29,329 662 2,667
OBIRQIOHY RIIHA2Z X 22| 26,877 260 2,617
o123 1,676,590% * 1%« 122 20,120 130 1,990
— Fougaly 10,0002 +124 » 12 1,320 080 240
— A2 RAEY 11,9002+ 1Y+ 15A 2+ 122 2,142 921 221
— Y EE I 838,320 * 12«23l 1,677 511 166
O S 8 At 50,0002 %1% « 13| 50 0 50
=3l 39,760 760 £2,000
ol =22l 39,760 760 £2,000
202 01t 15,280 17,280 £2,000
I ZLH O bl 15,280 17,280 A2,000
MR EFI|I=0H| 15,280, 0002 15,280 17,280 £2,000
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N = 0l & At & Ml A
0158 £ 2 8 2usiH HA
SN BUIS
HH: ZOMESY(SUHIS)
el FoMEE (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S 250,708 252,936 ~2,228
FOMEHSY(BUIS) 184,280 185,400 A1,120
FoME 110,420 111,040 2620
pIA2d 8,520 9,000 A 480
201 Yer2 bl 8,520 9,000 £480
02 B2 6.800 7,280 2480
OUATT 018 S RBES 23
550,0002! * 122 6.600 7,080 2480
Fouexe 6,560 6,720 A140
201 Y2 2| 2,800 2,940 A140
02 B2 2,000 2,140 A140
OYSHS FUE MEE 20,0008 5% 100 240 A140
T2 28,360 28,860 A500
Hzael 4,470 4,970 A500
201 Yer 2 bl 4,470 4,970 A500
02 B2 4,470 4,970 A500
OBEXY RN 2,500,000% 2,500 3,000 A500
HY2AHL(BU1S) 66,428 67,536 A1,108
ol 2| 27,548 25,776 1,772
ol 2%yl 27,548 25,776 1,772
101 9121 bl 27,548 25,776 1,772
EESPEEES TR 27,548 25,776 1,772
OI#QIRHY R MR o1l 25,115 23,343 1,772
—oles 1,587, 1202 124 *122 19,046 17,632 1,414
— Zuga| 110,0002 12+ 12 1,320 1,080 240
— Y4B 793,560% *12 23] 1,568 1,470 118
ol = 2l 38,880 41,760 A2,880
EET] 38,880 41,760 72,880
202 01t 14,400 17,280 £2,880
NENET 14,400 17,280 £2,880
YR XTI 0l 10,0008 * 128+ 122 14,400 7,280 £2,880
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N &

20158 =& 2 3 L3 AH A

Of & AF & & A

A

2AM: SU2s
M FUHAHRIY(SU2S)

Chels a2t 2| (&)
SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
s2s 268,108 273,080 A4,972
FUHH2ZE(BU23) 230,668 231,320 A 652

Hak2t 2| 43,418 44,070 A 652
x&keel 24,318 24,970 A 652

405 XtAtE SHI 18,348 19,000 AB52

01 AL EFH S 18,348 19,000 A 652
onExed 2¢ 18,347,010& 18,348 19,000 A 652
HY2FZH (ZUH2S) 37,440 41,760 24,320
| =3l 37,440 41,760 A 4,320
Jl2234 37,440 41,760 24,320
202 44l 12,960 17,280 A 4,320

01 = LH 4 HI 12,960 17,280 24,320
HEFAI20 I 90,000& x12H «12& 12,960 17,280 N4,320
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